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Essential Math Skills – Grade 6 (Practice 3)

•	 addition and subtraction

A.	 Add or subtract.

B.	 Find the sum and difference of each pair of decimals.

6 . 4 3 9
2 . 8 4 0

1.
+

7 . 4 6 0
4 . 6 3 7

4.
–

1 0 . 0 0 1
3 . 6 5 0

2.
–

0 . 5 3 2
6 . 7 8 1

5.
+

0 . 8 0 6
7 . 4 5 3

3.
+

2 . 0 0 0
0 . 2 1 1

6.
–

1.	 10.43	 9.207

3.	 3.081	 7

sum

sum

difference

difference

2.	 0.12	 3.674

4.	 2.13	 9.2

sum

sum

difference

difference
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Sugar Salt 

3.5 kg
2.043 kg

4.675 kg
Rice

8.06 kg

Essential Math Skills – Grade 6 (Practice 3)

C.	 Use addition to check each answer.  Check the circle if it is correct; otherwise, 
put a cross.

D.	 Find the items.

A  8 – 6.273 = 

B  1.24 – 0.217 = 

C  7.778 – 2.73 = 

D  5.249 – 0.51 = 

0.727

1.023

5.048

4.839

1.	 The total weight of these 2 items 
is 8.175 kg.

2.	 The difference in the weights 
of these 2 items is 6.017 kg.

items items

A

C

B

D
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Essential Math Skills – Grade 6 (Practice 3 – Answers)

•	 addition and subtraction

A.	 Add or subtract.

B.	 Find the sum and difference of each pair of decimals.

6 . 4 3 9
2 . 8 4 0

1.
+

7 . 4 6 0
4 . 6 3 7

4.
–

1 0 . 0 0 1
3 . 6 5 0

2.
–

0 . 5 3 2
6 . 7 8 1

5.
+

0 . 8 0 6
7 . 4 5 3

3.
+

2 . 0 0 0
0 . 2 1 1

6.
–

1.	 10.43	 9.207

3.	 3.081	 7

sum

sum

difference

difference

2.	 0.12	 3.674

4.	 2.13	 9.2

sum

sum

difference

difference

1 0 . 4 3 0
9 . 2 0 7

1 0 . 4 3 0
9 . 2 0 7

0 . 1 2 0
3 . 6 7 4

3 . 0 8 1
7 . 0 0 0

3 . 6 7 4
0 . 1 2 0

7 . 0 0 0
3 . 0 8 1

2 . 1 3
9 . 2 0

9 . 2 0
2 . 1 3

1 9 . 6 3 7 1 . 2 3 3 3 . 7 9 4

1 0 . 0 8 1

3 . 5 5 4

3 . 9 1 9 1 1 . 3 3 7 . 0 7

+ – +

+

–

– + –

9 . 2 7 9 6 . 3 5 1 8 . 2 5 9

1 . 7 8 92 . 8 2 3 7 . 3 1 3
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Sugar Salt 

3.5 kg
2.043 kg

4.675 kg
Rice

8.06 kg

Essential Math Skills – Grade 6 (Practice 3 – Answers)

C.	 Use addition to check each answer.  Check the circle if it is correct; otherwise, 
put a cross.

D.	 Find the items.

A  8 – 6.273 = 

B  1.24 – 0.217 = 

C  7.778 – 2.73 = 

D  5.249 – 0.51 = 

0.727

1.023

5.048

4.839

1.	 The total weight of these 2 items 
is 8.175 kg.

2.	 The difference in the weights 
of these 2 items is 6.017 kg.

items items

A

C

B

D

0 . 7 2 7
6 . 2 7 3

5 . 0 4 8
2 . 7 3 0

4 . 6 7 5
3 . 5 0 0

8 . 0 6 0
2 . 0 4 3

1 . 0 2 3
0 . 2 1 7

4 . 8 3 9
0 . 5 1 0

7 . 0 0 0

7 . 7 7 8

8 . 1 7 5 6 . 0 1 7

1 . 2 4 0

5 . 3 4 9

+

+

+ –

+

+

flour and salt sugar and rice

4

4

8

8


